= B H
XERBEOHT 2%z

| | S5 TAIEEB2.6dLO MY Y2 —XE8RAF T,

3AMTIE., @ TRAdLO b2 Y2 —X2]RAEE T HY,

=

2] 2.74kgD k51 13K 2 HY &7,

KIFLWMTkgh ) £ 35,
%

3| 2B TAI.54kmh =S5V >a—rHY T,

CHIA—RAE9QRAT 5. 2P THAkmIZR Y T 5,

=

o

@ HEIF % @j @ @: [503% @D h@



SR@PHEL 12 (| 5 BicS A :
<l X EMEOHE 231

| | S5 TAIREBH2.6dLO MR MY 2 —RE8RAF T,

SERTIE., 2 THAdLO b2 FY 2 —XE8AF T 5,

AN 2.6 X3=7.8

2| 2.74kgD k51 13K 2HY 7,

KIFLWMTkgh ) £ 35,
A 2.74X 1 1=30.14

%71{ 30.14 kg J

3| 2B TAI.54kmh =S5V >a—rHY T,

CHIA—RAE9QRAT 5. 2P THAkmIZR Y T 5,
N 1.54X9=13.86

%’*71{ | 3.86 km J

© LI B2 % @i g ? %’@3% @ ﬂv@



	スライド 23
	スライド 24

